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36, —R& A (3 BR5E | 35N S BRFE(ES])

BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | WE | 4 &=
4818 ([RIFYoIR Wi 600 60 | 36,000 0 60 36,000
4828 |4F3 % 200 88| 17,600 0 88| 17,600
4R28|7RNGHR IR 100 7 700 0 7 700
4A5H[TFRNSHR IR 100 15[ 1,500 0 15| 1,500
4R58[4F3 Fx 200 69| 13,800 0 69| 13,800
4878 |70val)— Fx 150 15| 2,250 0 15| 2,250
478 7ANSHR  |RE 100 11] 1,100 11 1,100 0 0
4898 |4Fd % 200 82| 16,400 64 [ 12,800 18] 3,600
48128 |4F3 Fx 200 61] 12,200 40 8,000 21| 4,200
48128 |RIEY S8R Wi 600 44| 26,400 22 | 13,200 22| 13,200
48138 |RIEY iR W 600 6] 3,600 5 3,000 1 600
4138 [T RINSHR IR 100 43| 4,300 34 3,400 9 900
4R16B[7RNNFGHR |IRIE 100 29| 2,900 29 2,900 0 0
48168 [4FT % 200 72 14,400 33| 6,600 39[ 75800
4R19B[FRNINFGHR |IRIE 100 54| 5,400 36 3,600 18] 1,800
48198 [4FT % 200 71 14,200 40 | 8,000 31| 6,200
4R21B[7RNNFGHR R 100 34| 3,400 22 2,200 12| 1,200
48238 [4FT % 200 83| 16,600 69 [ 13,800 14| 2,800
4A23B[7RINFGHR  |IRIE 100 41| 4,100 34 3,400 7 700
4268 [T R/INSHR IR 100 27| 2,700 0 27| 2,700
48268 |4F3 Fx 200 62| 12,400 0 62| 12,400
428 [T RINSHR IR 100 30| 3,000 0 30| 3,000
48308 |4F3 Fx 200 84| 16,800 0 84| 16,800
4A30B[7R/INSHR IR 100 28| 2,800 0 28] 25800
&t 234,550 82,000 152,550




5 A 35 A ERSEAER

25, —#k M BRSE [ BB S BRFE(ES)

fR5EH i B MizeEs| Bifi | HE| 5 | 88 | €% | = | €8 &%
5A6H|7Avay—  |HE 150 19| 2850 0 19 2850
586H|tlLY SR BME 600 27| 16,200 0 27| 16,200
5A7B|ZR/NSHR  |BiE 100/ 40| 4,000 0 40| 4,000
578 |7Aavay— |BXx 150] 80| 12,000 0 80| 12,000
5A7H|A4FT S 200( 98| 19,600 0 98| 19,600
58108 [(4Fd Hx 200| 82| 16,400 0 82| 16,400
58108 |7R/ISHR  |IBiE 100 23| 2,300 0 23| 2,300
5108 (Fayay—  |FBE 150 87| 13,050 0 87| 13,050
5A12B|7R/ISHR  |IBiE 200 11[ 2,200 0 11] 2,200
5128 |Fayay— |FBE 150) 31| 4650 0 31| 4,650
5A138[(4FT S 200[ 60| 12,000 0 60| 12,000
5H14B|7RANSHR  |IRE 200 16/ 3,200 0 16] 3,200
5A14H|7avay—  |HE 150/ 22| 3,300 0 22| 3,300
5A178[4Fd Fx 200| 67| 13,400 0 67| 13,400
58178 |7 8vyal— B 150 25 3,750 0 25| 3,750
5H1TR|Z7ARNSAR  |IRE 200 18] 3,600 0 18] 3,600
5A218(4F3 S 200( 54| 10,800 0 54| 10,800
5A218|Fayay— |FBE 150) 20| 3,000 0 20 3,000
5A218|7RISHR  |IBiE 200 9| 1,800 0 9[ 1,800
5H24B|7RANSHR  |IRE 200 7| 1,400 0 7| 1,400
5A24H|Java)—  |HE 150 18] 2,700 0 18] 2,700
58248 [a%YF REE 100/ 60/ 6,000 0 60| 6,000
5A27H|axv+ RiE 100] 61| 6,100 0 61 6,100
5288 |7ARNSHR  |IRE 200 6] 1,200 0 6] 1,200
5A318|7R/ISHR  |BiE 200 6] 1,200 0 6] 1,200
&t 166,700 0 166,700
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25, — A ARTE |35 M 8 ARFE(ZE 1)
Bl =] i H MrEs| Hifi | %8 | £48 | H ®8 | B ok .| &%

Gl
i

6818 |{EEE A= 100 21 2,100 21 2,100|2f& 1+ vk

618 [RAH 400 18] 7,200 18 7,200

v
i

618 [RAH 500 15| 7,500 15 7,500

v
i

6H28[RAH 400 23| 9,200 23 9,200

v
i

6H28[RAH 500 26| 13,000 26| 13,000

v
i

648 [RAH 400 11| 4,400 11 4,400

v
i

648 [RAH 500 47] 23,500 47] 23,500

v
i

6R78[RAH 400 20| 8,000 20| 8,000

v
i

6R78[RAH 500 27| 13,500 27] 13,500

v
i

6H8H |{EiE

e
JiH
o
ke

100 20| 2,000 20| 2,000

6H8H|RAH 400 50| 20,000 50| 20,000

v
i

6H8H|RAH 500 30| 15,000 30| 15,000

v
i

6H98[RAH 400 42| 16,800 42] 16,800

v
i

6H98[RAH 500 18] 9,000 18] 9,000

v
i

6H11H[RASD 400 68| 27,200 68| 27,200

v
i

6H11H[RASD 500 57| 28,500 28,500

v
i

68148 |BRF 100 24| 2,400 24| 2,400

v
i

6H14H[RAH 400 58| 23,200 58| 23,200

v
i

6H14H[RAH 500 58| 29,000 58| 29,000

v
i

6H18B|BRYT

v

100 54 5,400 54 5,400

N
Sk [

6238 |7 R/INGHR 100 21 2,100 21 2,100

6H258B|S=k<k 200 17 3,400 17 3,400

v
i

6H28H[RAH 400 25| 10,000 25| 10,000

v
i

6H28H[RAH 500 12 6,000 12 6,000

v
i

68288 |S=k<k 200 31 6,200 31 6,200

v
i

68288 |~LaXFIY

oo
0y

300 36| 10,800 36| 10,800

6H29H[RAH 400 36| 14,400 36| 14,400

v
i

6829H|RXA%

v

500 13 6,500 13 6,500

N
Sk [

68298 |7 R/INFGHR 100 25 2,500 25 2,500

6H30H[RAH 400 16 6,400 16 6,400

v
i

o |©o | o | | o | | o o | o o | o o o | | o | o o o | | o | | |©
[S)]
~l

6H30H[RAH 500 10] 5,000 10] 5,000

v
i

B 340,200

o

340,200
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26, —R& A (T BR5E | 15 MBS BRFE(ES])

BR5EH i B Mz Hifi | 2| £5 | 85 | £% | = | 28 &%
TH2B|RAH B 400 | 54| 21,600 0 54| 21,600
1H28[RAAH B 500( 30| 15,000 0 30| 15,000
7H28|S=k<h Fx 200 53| 10,600 0 53| 10,600
1A5H[RMAH S 400|  40[ 16,000 0 40| 16,000
7A5B|RXAH B 500( 36| 18,000 0 36| 18,000
TASB|ZRNSHR IR 100/ 25| 2,500 0 25| 2,500
7B58|E—<> R 50 9 450 0 9 450
758+ & R 100 13[ 1,300 0 13[ 1,300
7A6R|TEEH f£E= 100 20| 2,000 0 20| 2,000
1H6H[RMAH S 400 4] 1,600 0 4] 1,600
TH6B|RXAH B 500 11[ 5500 0 11] 5,500
7A6H[E=F<hF 3 200 34| 6,800 0 34| 6,800
7H8H|RAH B 400 16| 6,400 0 16| 6,400
TH8H[RAA S 500( 37| 18,500 0 37| 18,500
TH8B|7ARNSHR  |IRE 100 14| 1,400 0 14] 1,400
7A8H[F R RiE 100 7 700 0 7 700
7B8B|E—<> R 50 3 150 0 3 150
7H9B|MLaXXIy [fEE 300 32| 9,600 0 32| 9,600
7H9B|RAH B 400 5 2,000 0 5 2,000
TH9H[RAA S 500 12| 6,000 0 12| 6,000
7A9B([Z=F=h Fx 200 18] 3,600 0 18] 3,600
TH12B[F R R 100 11| 1,100 0 11| 1,100
71812H|E—=> R 50 9 450 0 9 450
TA12B|FRINSHR  [1BiE 100/ 20{ 2,000 0 20| 2,000
78138 |3=Fb Fx 200 64| 12,800 0 64| 12,800
TA14B|FRINSHR  [1BiE 100 17[ 1,700 0 17[ 1,700
7R16H[XMH B 400 10[ 4,000 0 10[ 4,000
TH16H[RMH S 500( 34| 17,000 0 34| 17,000
78168 |S=FTh Fx 200 35| 7,000 0 35 7,000
TH19B (R4 A S 400 14| 5,600 0 14| 5,600




36, — iR E T ERTE

15N E IRFE(ES)

AR5 H 1= Mize=Ea| Bifi | HE| 56 | 88 | £% | = | €8 &%
7H198| R4 A S 500 61| 30,500 0 61| 30,500
7H20H(X4H B 400 19 7,600 0 19 7,600
7H208| R4 A Fx 500| 44| 22,000 0 44| 22,000
78208 |3=HF<b Fx 200 56| 11,200 0 56| 11,200
7H218| R4 H S 400 11| 4,400 0 11| 4,400
TH21H[(XMH B 500 59| 29,500 0 59| 29,500
TH21B[ Y TyRAYESE 200 17| 3,400 0 17[ 3,400
78268 |3=HFTh Fx 200 46| 9,200 0 46 9,200
TH2TIH [ TyR AYESE 200] 20| 4,000 0 20| 4,000
78298 |3=F<b Fx 200 30| 6,000 0 30[ 6,000
TH30H [ TyRDAYESE 200 12| 2,400 0 12| 2,400

&t 1,062 | 331,550 0 331,550




8H 715N ERSEAER

56, —A% M BRTE | 5 MBS BRFE(ES])

Rz H B Bin=s| B | %8 | #% | BE | 28 | #HE | =8 =
8A2R8 | Ty Y |TEE 200 13| 2,600 0 13| 2,600
8H2B[3=FTF Fx 200 19 3,800 0 19/ 3,800
8HASH|BESPH el 300( 129 38,700 0 129| 38,700
8H6H [ TyRD Y |TEE 200 22| 4,400 0 22| 4,400
8A6RA|S=k<k B 200 16| 3,200 0 16| 3,200
8H6H|EE e e 300 26| 7,800 0 26| 7,800
8H6R|BE=H el 300( 126/ 37,800 0 126] 37,800
8H108 | TyiRm ) [fEE 200 79| 15,800 0 79| 15,800
8H10B[S=kTt Fx 200 8| 1,600 0 8] 1,600
8A11B|EA—% BWE 500 52| 26,000 0 52 26,000
8H 118 |FE#HK e 300 17| 5,100 0 17] 5100
8H11H|%EK e e 300 29| 8,700 0 29| 8,700
8H128 | TyiRm ) [FEE 200 65 13,000 0 65/ 13,000
8H16H|hErTH B 200 3 600 0 3 600
8H16H|S=k<k Fx 200 23| 4,600 0 23| 4,600
8H17H|ESPH e e 200 8| 1,600 0 8| 1,600
8H17H|F#K S 300 9] 2,700 0 9] 2,700
8H17H|EK e e 300 20| 6,000 0 20| 6,000
8H19H |FAXK Rt 300 60| 18,000 0 60| 18,000
8H20H |fAFE e e 300 67| 20,100 0 67/ 20,100
8H20H K EEl 300 64| 19,200 0 64| 19,200
8H208 |FTHR e e 200 20| 4,000 0 20[ 4,000
8H20H |FTHR E 5} 300 20| 6,000 0 20[ 6,000
8H23H|E2UV® et 200 65| 13,000 0 65| 13,000
8H23H|S=kTt xR 200 23| 4,600 0 23| 4,600
8H23H [ EFTH Fx 200 11 2,200 0 11 2,200
8A24H|#HHR E i 600 51| 30,600 0 51| 30,600
8H24H |FTHR R 300 77| 23,100 0 77/ 23,100
8H26H[FhEFTH B 200 16| 3,200 0 16| 3,200
8H26H|3S=F<k Fx 200 25| 5,000 0 25| 5,000
8A26H [#HHR Fat 300 205| 61,500 0 205| 61,500
8H27H |#FHR et 200 20| 4,000 0 20[ 4,000




56, —A% M BRE | 5 MBS BRFE(ES])

BRz=H 2H Brss| Hifi | %8| £ | WE | 28 | HE | £# %
8H27H |FHR i) 300 15| 4,500 0 15| 4,500
8H27H |#FHR Rt 400 3| 1,200 0 3| 1,200
8H27H |#HHR ) 600 3] 1,800 0 3] 1,800
8A31H[FEFTH BFx 200( 20| 4,000 0 20| 4,000
8ASIB[FUT YA |HE 100 22| 2,200 0 22| 2,200
8A318|3I=r<tF Fx 200 50| 10,000 0 50[ 10,000
8A31H|ZK R 250 37[ 9,250 0 37[ 9,250
&t 431,450 0 431,450




9R S5 A ERSTAER

36, — iR E T ERTE

15NEE IRFE(ES)

fR5EH i B MireEs| Bifi | HE| 5 | B8 | £% | = | €8 ke
VA28 [FUT YA (B 100 45 4,500 0 45| 4,500
9H2H|E=F<F Fx 200 55| 11,000 0 55 11,000
9A28 | EFTH S 200 17[ 3,400 0 17[ 3,400
9A28 |FHR e 300| 151| 45,300 0 151| 45,300
9A6H[FErTH B 200 26/ 5,200 0 26| 5,200
9H6H|S=F<TF i 200 15/ 3,000 0 15| 3,000
9ATH|MHER RH 300[ 50| 15,000 0 50| 15,000
9ATR|MHR Rt 600 30| 18,000 0 30[ 18,000
9BA7R|S=FThk S 200[ 60| 12,000 0 60| 12,000
9A8H|MHR Rt 200 23| 4,600 0 23] 4,600
9A8H|#HEHR e 400 1 400 0 1 400
998 |/INERAH B 100 10[ 1,000 0 10[ 1,000
9AIR|/INERAS S 200 15[ 3,000 0 15[ 3,000
9108 |FERTE Fx 200 22| 4,400 0 22| 4,400
9A108 |3 =<k S 200( 51| 10,200 0 51| 10,200
9FA10B|7AR/NNSHR  [IRIE 100 14| 1,400 0 14] 1,400
9A108 | = +tHid ESE 300 30 9,000 0 30| 9,000
9A 108 |HEDE Rt 200 65| 13,000 0 65/ 13,000
9B 138 |/NERAS 3 100 6 600 0 6 600
98138 |/NEZXAAH B 200 5[ 1,000 0 5 1,000
9A13H|FZRISHR  |BiE 100 10[ 1,000 0 10[ 1,000
9B 14H|[3=F<b Fx 200 46| 9,200 0 46 9,200
9148 [hERTE S 200 6] 1,200 0 6] 1,200
9A 148 |FEHR Rt 300 27| 8,100 0 27[ 8,100
9A148 |RAHR EEl 600 15] 9,000 0 15| 9,000
9A158 [ Y IR RAAVIE 500/ 80| 40,000 0 80| 40,000
9A158 |HR ESE 300 30 9,000 0 30/ 9,000
9A15H|FHER Rt 600 20| 12,000 0 20 12,000
9A15B [ T yR™D Y [TEE 200] 20| 4,000 0 20| 4,000
98168 |#&iE W 300 28| 8,400 0 28| 8,400




36 . — &M@ ERSE

15 NS IRSE(ESD)

BR5EH i B HEEsa| B E| &8 | ¥=E | 2% | = | €% &%
9A16B[EA—F e 300 15[ 4,500 0 15[ 4,500
9168 |7o5vIE—F |BE 300 16| 4,800 0 16| 4,800
98168 |REF B 100] 57| 5,700 0 57| 5,700
9A16B|FEHR 24 300 20 6,000 0 20 6,000
9A178[Z=k<k REE 200( 22| 4400 0 22| 4,400
9A1TH|FZRISHR  |BiE 100 12[ 1,200 0 12| 1,200
9B178[RMAH B 400 10[ 4,000 0 10[ 4,000
9A178[R4AH FFx 500 14 7,000 0 14| 7,000
9B17H|[S=F<b Fx 200 31| 6,200 0 31| 6,200
9A17B|FERIE I 200 2 400 0 2 400
9A17H|HEDE Rt 300 12| 3,600 0 12| 3,600
9A218[Z=k<F+ RiE 200] 22| 4,400 0 22| 4,400
9A21B|7ARNSHR  [IRiE 100 9 900 0 9 900
9A21B[  TyRD Y [TEE 200( 92| 18,400 0 92| 18,400
9A21H|[Z=F<b Fx 200 43| 8,600 0 43| 8,600
9A218|FERTF 3 200 2 400 0 2 400
9228 |HK Rt 250 34| 8,500 0 34| 8,500
9A228B|HXK Eil 500 10[ 5,000 0 10[ 5,000
9A248|2Y = 200 1] 2,200 0 11] 2,200
9A248|S=k<Ek Fx 200] 23| 4,600 0 23| 4,600
9A248 [ ERTE Fx 200 4] 800 0 4 800
9A24B|7RINSHR  |BiE 100 12[ 1,200 0 12| 1,200
9A278 | TyRD A |[TEE 200 30| 6,000 0 30[ 6,000
9g288[FERTE S 200 18] 3,600 0 18] 3,600
9H28H|[3=F<h Fx 200 73| 14,600 0 73| 14,600
9A28H|1Y (A3 200 25| 5,000 0 25| 5,000
&t 399,900 0 399,900




10A 775 ERSEAER

36, — iR E T ERTE

15NEE IRFE(ES)

fR7EH i B Mire=Ea| Bifi | HE| 5 | 88 | £% | = | €8 ke
10818 [$8AER el 300 [ 99| 29,700 0 99| 29,700
1081H[S=FRE Fx 200 80| 16,000 0 80 16,000
10A18|PEFTH S 200 17[ 3,400 0 17[ 3,400
1018|915 Rt 100 50| 5,000 0 50[ 5,000
10848(2Y feE 200 16/ 3,200 0 16/ 3,200

108 4H [#EAER Rt 300| 178| 53,400 0 178| 53,400
108587 R/NSHR  [1BiE 100 10[ 1,000 0 10[ 1,000
10858 [ EFTE Fx 200 18] 3,600 0 18] 3,600
10A5H|E=k<k S 200[ 56| 11,200 0 56| 11,200
1086H | TyRmal |{EE 200 13| 2,600 0 13| 2,600
10878 |#BAER et 300] 96| 28,800 0 96| 28,800
10888 |3=k<k Fx 200[ 45| 9,000 0 45| 9,000
10A8H|PEFTH Fx 200| 24| 4,800 0 24| 4,800
10888 |$EAER AR 250 72| 18,000 0 72| 18,000

108 11 H [#8KER R 300] 105| 31,500 0 105 31,500
108118 (Y = 200[  20[ 4,000 0 20| 4,000
10ANB[S U TyRY Y [fEE 200 15[ 3,000 0 15[ 3,000
108128 [ EFTE Fx 200 27| 5,400 0 27| 5,400
108128 [E =k S 200( 87| 17.400 0 87| 17,400

108 13H [#EAER R 300 60[ 18,000 0 60| 18,000
108158 | EFTH Fx 200] 22| 4,400 0 22| 4,400
108158 (S =F<b Fx 200 75 15,000 0 75 15,000
108158 TRyl [fEE 200| 28| 5,600 0 28| 5,600

108 15H [#EAER AR 250 47| 11,750 0 47| 11,750
108198 (Y £E 200 11[ 2,200 0 11] 2,200
108198 [S=F<E Fx 200 64| 12,800 0 64| 12,800
108198 | ErTH S 200 18] 3,600 0 18] 3,600
105198 [E R i 300 34| 10,200 0 34| 10,200{1.5k AY
104208 |FHE 2H 500 144| 72,000 0 144] 72,000|2kAY)




35, — &A1 ERSE

15N S IRSE(ESD)

gR7EH i B Hffi | %5 | €% | ¥ | £% | ¥=E | &8
10A208 | > Tyl 200 14| 2,800 0 14| 2800
108208 |[Fo 7B A 100/ 32| 3,200 0 32| 3,200
108218 |[BHk 200] 39| 7,800 0 39| 7,800
10821 H [#EXER 250 45| 11,250 0 45 11,250
108228 |hERTE 200 17| 3,400 0 17| 3,400
108228 (S =kt 200] 47| 9,400 0 47| 9,400
10A258 [>Tyl 200 12| 2,400 0 12| 2400
108258 [EFk 400| 30| 12,000 0 30| 12,000
108258 [E®K 300 71 21,300 0 71[ 21,300
108268 [FE% 200| 94| 18,800 0 94| 18,800
10826 H [#8AE} 250 35| 8,750 0 35| 8,750
108268 |hEFTH 200 9[ 1,800 0 9] 1,800
10H26H|[S=k<t 200| 35| 7,000 0 35| 7,000
10827H|FU A 100/ 40 4,000 0 40| 4,000
10828 H [ A%k 200| 26| 5,200 0 26| 5200
10828 H [##k 200 13| 2,600 0 13[ 2,600
108288 [ 150/ 56| 8,400 0 56| 8,400
108298 [>Tyl |{E 200 10[ 2,000 0 10[ 2,000
108298 |hERTH 200 15 3,000 0 15[ 3,000
10829 [E=k<b 200| 44| 8,800 0 44| 8,800
&t 550,450 0 550,450




11 A 5315 RN ERSEAER

56, —A M (38R | 15 M8 BRFE(ES])
AR5 H B Mir=s| Bfifi | HE| S5 | BE | £% | HE | 28 &%
HAI1B[YrE IR 200 | 30| 6,000 0 30| 6,000
HAIB|E® R 300 46 | 13,800 0 46 13,800
HA1E|[ER 8 400 45| 18,000 0 45 18,000
A28 |fE Rt 200 95 [ 19,000 0 95/ 19,000
11A28|HEFTH Fx 200 | 24| 45800 0 24| 4,800
11A2H[ZS =R Fx 200 67 | 13,400 0 67[ 13,400
11A48|E/ 8 300 | 140 | 42,000 0 140[ 42,000
11848 (Joyaly— i 150] 44| 6,600 0 44| 6,600
11A48[RkvY it 200 27| 5,400 0 27| 5,400
ASH|"RAEA AR 300 66| 19,800 0 66/ 19,800
11 A58 [#ifk Il 200 25/ 5,000 0 25| 5,000
A5 | TyRY A |fEE 200 7| 1,400 0 7| 1,400
1ASH[AEE R 200| 42| 8,400 0 42| 8,400
11A8HRMIHY F it 200 50 10,000 0 50 10,000
11A8H|[FvRY Fx 150| 33| 4,950 0 33| 4,950
11A8H|Foyaly— B 150] 64| 9,600 0 64| 9,600
11AIR[RrYY Y (A=d 200 5/ 1,000 0 5/ 1,000
AR |HF# AR 200 35| 7,000 0 35| 7,000
11 A9 [ AR AR 250 55 | 13,750 0 55| 13,750
11A108 | ELTE Fx 200 23 | 4,600 0 23[ 4,600
11A108|S =K<k B 200 70| 14,000 0 70| 14,000
118108 |7 oyay— B 150] 24| 3,600 0 24| 3,600
11108 | ERM £ 300 70| 21,000 0 70| 21,000
11A108 |TEEHE = 100 55| 5,500 0 55| 5,500
11A108[7RE— (A3 200 17| 3,400 0 17| 3,400
A1 B[XR AR 250 48| 12,000 0 48 12,000
HANBE|FRHEE AR 300[ 41| 12,300 0 41| 12,300
HANB[FAAE RiE 300 40| 12,000 0 40| 12,000
HA12B|HYRAE IR 300 20| 6,000 0 20| 6,000
11A12B8|F ¥y B3 150] 39| 5,850 0 39] 5850




o6, —#E M I BRSE [SHNEE BRFE(ES)

IR5EH B Mir=a| Bfifi | HE| S5 | BE | £% | HE | =8 &%
A28 |ER R 300 23| 6,900 0 23| 6,900
A12B[ERK F it 400 20 8,000 0 20/ 8,000
11A128[EH Cil 200 10[ 2,000 0 10[ 2,000
1181287 oyay— B 150] 38| 5,700 0 38| 5,700
11A158|BRFE &2 200| 50| 10,000 0 50| 10,000
11H158[ERK F it 400 37| 14,800 0 37| 14,800
11A158|70yal)— e 150 23| 3,450 0 23[ 3,450
11A168|S=F<t Fx 200 68| 13,600 0 68| 13,600
11A16B|EBRFE &2 200| 51| 10,200 0 51| 10,200
HA17ARMIHY F it 200 35 7,000 0 35| 7,000
1A178|BRF & 200[ 60| 12,000 0 60| 12,000
MA18B[EH Rt 200 24 4,800 0 24| 4,800
11188 |Fayal— X 150 18] 2,700 0 18] 2,700
118228 |7 oyay— B 150] 44| 6,600 0 44| 6,600
118228 [Fv~RY Frx 150 36| 5,400 0 36| 5,400
1152208 [#hH Rt 350 49| 17,150 0 49 17,150
1MA228|HYRAE IR 300 24| 7,200 0 24| 7,200
A28 |HYIAE IRiE 300 28| 8400 0 28| 8,400
118248 |S=k<k B 200| 65| 13,000 0 65| 13,000
11H228[FH4E RiE 300 45| 13,500 0 45| 13,500
118228 RS Y (A=d 200 9] 1,800 0 9] 1,800
1A248[EMIHY R 200 36| 7,200 0 36] 7,200
112587 RE— Y (A=d 200 7| 1,400 0 7| 1,400
118258 |Joyay— B 150] 22| 3,300 0 22| 3,300
118258 |28 R 200 44| 8,800 0 44| 8,800
118298 |Joyay— i 150 16| 2,400 0 16] 2400
11H298 | v~y e 150 37| 5,550 0 37| 5,550
11A308|E=kTEF Fx 200 49| 9,800 0 49| 9,800
11A308 [iEMIHY et 200| 48| 9,600 0 48| 9,600
11H30H[RFyY EE 200 14| 2,800 0 14| 2,800
&t 535,200 0 535,200




12 A 715N ARFTAER

5. — &M@ T ARSE

15N S AR FE(E51)

fR5EH = MirEs| Bl | %8 | €% | K& | £% | Y= | £ &%
12818 |Rkv% e 200 6| 1,200 0 6] 1200
12818[/\9H94 RiE 100 12| 1,200 0 12| 1,200
12828 |78vyal— Fx 150 27| 4,050 0 27| 4,050
12828 iBMIHY el 200 27| 5,400 0 27| 5,400
12868 |70val— Fx 150 13| 1,950 0 13| 1,950
12A 68 [RFEHET ][R 250 23| 5,750 0 23| 5750
12H6H [{E{HFT AR 200 50 10,000 0 50/ 10,000
12868 | RER AR 250 18| 4,500 0 18] 4,500
1286H|RXkyY = 200 7| 1,400 0 7| 1,400
12898 |S=k<k Fx 200 51| 10,200 0 51| 10,200
12898 |78val— Fx 150 27| 4,050 0 27| 4,050
12898 iBMIHY Rt 200 31| 6,200 0 31| 6,200
128108 [AL el 150 43| 6,450 0 43| 6,450
12108 |F+vRY Fx 150 39| 5850 0 39| 5850
128138 (4F3 Fx 300 12| 3,600 0 12| 3,600
128138 |7Aval)— Fx 150 25| 3,750 0 25| 3,750
128138 |B+R¥ Fx 200 50/ 10,000 0 50| 10,000
128148 |83 X Fx 200 40 8,000 0 40/ 8,000
128168 |RbvY (A= 200 5] 1,000 0 5 1,000
128168 T e 100 50| 5,000 0 50| 5,000
1281787 ayal— Fx 150 18] 2,700 0 18] 2,700
128178 [4F3 Fx 300 14| 4,200 0 14| 4200
128178 |3 =F%F Fx 200 49 9,800 0 49| 9,800
128208 |BRF @RAE) |Fx 300 59| 17,700 0 59| 17,700
12A218|BRF @RAE) |Fx 300 108| 32,400 0 108| 32,400
128228 |780val)— Fx 150 6 900 0 6 900
12228 |ARF @RAE) |Fx 300 49| 14,700 0 49| 14,700
128228 |TE#RR AR 200 44| 8,800 0 44| 8,800
1278248 (4F3 Fx 300 28| 8,400 0 28| 8,400
12H24H[RbYY EE 200 18] 3,600 0 18] 3,600
&t 202,750 0 202,750




1A 215 RERFEAR

26, —#E AT ARG | 15N S BRFE(EE)

fR5EH m B Me=Es| Hifi %5 | £% | & | €56 | WE | £F &%
1848 |4F3 B 300 23| 6,900 0 23| 6,900
1A58[RkyY = 200 11| 2,200 0 11 2200
1A78|4F3 B 300 18/ 5,400 0 18] 5,400
1118 |7ayal)— Fx 150 7| 1,050 0 7| 1,050
1A1B|4Fd B 300 29| 8,700 0 29| 8,700
1H148|4Fd Fx 300 26 7,800 0 26/ 7,800
1H18H|RkyY (=3 200 15| 3,000 0 15 3,000
1H188|4Fd Frx 300 55 16,500 0 55| 16,500
1A218|4F3 B 300 32| 9,600 0 32| 9,600
1H248|4F3 Frx 300 31| 9,300 0 31 9,300
1H278|RAkyY (=3 200 10| 2,000 0 10| 2,000
1H288|4Fd Frx 300 35| 10,500 0 35| 10,500
1A318|4F3 B 300 20| 6,000 0 20| 6,000
i 88,950 0 88,950




2R 15RERSEAER

2b ., —#kmE [ BRE | 5P S BRFE(ESD

HR5EH m B Mr=Es| Hifi | E| €% | 8E | % | K5 | £4 &%
2818(RYY i3 200 17 3,400 0 17/ 3,400
248 [4F3 Fx 300 35| 10,500 0 35| 10,500
2H78| RS V(43 200 14/ 2,800 0 14| 2,800
278 |4F3 xR 300 26| 7,800 0 26/ 7,800
2R108[4FT B 300 37/ 11,100 0 37/ 11,100
2148 |4F3 Fx 300 64| 19,200 0 64| 19,200
2H158| Ay V(43 200 10[ 2,000 0 10| 2,000
2H18H|4F3 Fx 300 66| 19,800 0 66| 19,800
2A218[4F3 HE 300 60[ 18,000 0 60/ 18,000
2R218|RkyY EE 200 16| 3,200 0 16| 3,200
2A258[4FT B 300 50( 15,000 0 50[ 15,000
2R288|4F3 Fx 300 70| 21,000 0 70| 21,000
2H28H|AyY = 200 10[ 2,000 0 10| 2,000
2A28H[JOyal)— B 150 18] 2,700 0 18] 2,700
&t 138,500 0 138,500




3A S EANERFTAR

35, — kAT ERE

15N IRFE(ES)

HR5EH m B Mr=Es| Hifi | 8| €% | 8E | % | 5 | £4 &%
SASH[BRF RIFE) [FFx 300 48 | 14,400 0 48| 14,400
A4 |BRX (RiFE) |Fx 300 79 | 23,700 0 79[ 23,700
3A48|4Fd i 300 78 | 23,400 0 78| 23,400
3A48|AkyY = 200 15 3,000 0 15| 3,000
3ATR|A4Fd B 300 49 | 14,700 0 49 14,700
378 [ZOvay— xR 150 22 3,300 0 22| 3,300
3A10B[RkYY Y (A=3 200 20 | 4,000 0 20[ 4,000
3ANA[(M4FT xR 300 78| 23,400 0 78| 23,400
3A14B[4FT B 300 81| 24,300 0 81| 24,300
3A15H|4FT Fx 300 14| 4,200 0 14| 4,200
3A158(Zayal)— Fx 150 72| 10,800 0 72| 10,800
3A178|RLYY = 200 14| 2,800 0 14| 2,800
3A18H[(4FT B 300 87| 26,100 0 87 26,100
3A18H|[FOyal)— B 150 19| 2,850 0 19| 2,850
3A228[4FT i 300 42| 12,600 0 42| 12,600
& 193,550 0 193,550




